
03.12.2016 1 



2 

  222222222 sin)(

:is     metricFLRW   

 ddrdrtadtcds 

The Standard 

Cosmological Model 



3 

Equation of density evolution is: 
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Our Universe is filled with different types of matter   Ω 
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The Standard Cosmological Model 

 The Standard Cosmological Model is: 

 the model of expanding Universe with flat 

hypersurface which is filled by different types of 

matter: small amount of relativistic matter 

(photons), baryonic matter and dark matter which 

also obey dust like equation of state, and dark 

energy or quintessense which obeys vacuum 

dominated equation of state. 
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WMAP 
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and three Friedmannien equations are: 
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and contribution of different type of matter in density is: 

According to WMAP the total density of our Universe is: 

Wtotal=1 

W0m=0.27     and      Wq=0.73 

Therefore, the first Friedmannien equation is: 

 4

0

3

0

2

02

2

)1()1( zzH
a

a
rqm 



here W0r is present density of the CMBR with respect to critical 

density 



13 

 

0.7z

stageon    accelerati   is   z1

stageion   descelerat   is   z1

regimes  twohave  weand

becomesequation 

en Friedmanni second  theand











































3/1

0

3/1

0

4

0

3

0

2

0

2

2

)1(22)1(
2

1

m

m

rm azzHa



14 

 Universedominatedradiation  the

expansion teddescellera    5

 Universedominatedmatter  the

expansion teddescellera  5z0.7

expansionon accelerati  

z

z







4

4

10

10

7.00

 

5

4

0

3

0

4

0

3

0

2

02

2

10
5

25.0
1

)1()1(

)1()1(







z

zz

zzH
a

a

rm

rqm





15 

Equation of density evolution is: 
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

 

s  является постоянной величиной, поэтому соотношение s>>1  

сохраняется. Поэтому мы говорим, что у нас реализуется 

ГОРЯЧАЯ ВСЕЛЕННАЯ .    
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РЕЛИКТОВОЕ ИЗЛУЧЕНИЕ 
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Плотность энергии реликтового излучения есть 
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Плотность числа фотонов  реликтового излучения есть 
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Найдем момент времени, когда нарушается состояние 

равновесия в первичной плазме, когда при рассеянии на 

электронах фотоны обмениваются энергиями значительно 

меньшими, чем kT.   

Частота, с которой любой фотон в горячей и плотной плазме 

рассеивается электронами есть: 

Томсона  сечение

электронов числа плотность-
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Плотность электронов можно рассчитать из соотношения один 

электрон на один нуклон.  
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GZK эффект 
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